
Note: Before installing the chair, 
please sort the screws and measure 
the length of the screws for 
installation

Note: Before installing the chair, please sort the screws and measure the length of the screws for installation

G
eneral accessories

O
ptional accessories

813 A/B

（Subject to actual size）Installation icon

Five wheels One gas rod One chassis One seat cushion One backrest Two armrests

One hexagon wrenches Four mechanism screws 
(M6*35)

Six handrail screws
(M6*35)

A headrest

Aluminum alloy feet and plastic feet 
ignore this step

Three backrest screws
(M8*35)

Four (M6 gasket)

Installation guide

（Subject to actual size; each type of screws and washers has one spare)Parts list

0 1 2 3 4 5 6 7 8 9 10 cm

1 Press the wheel into 
thechair leg

Use three M6*35 armrest screws and 
on the left and right sides to connect 
the armrest and the seat cushion

2 Put on the foot coverPut the air rod into the 
middle hole of the chair leg

3 4

Align the upper half of 
the assembled chair and 
put it into the air rod

5
1. Two M6*20 headrest screws to 
install the headrestOn the backrest
2. Then put on the decorative cover 
and the installation is complete

front end

front end front end

Use four M6*35 mechanism 
screws to add spacers to 
connect the seat cushion and 
the chassis

Use three M8*35 backrest screws + 
elastic media + spacers to connect 
the backrest  and the chassis, pay 
attention to distinguish the front 
and back

6 7 8

Can be ignored without this accessory

Aluminum alloy feetGalvanized steel feet and foot covers Plastic feet

Two headrest screws 
(M6*20)

A decorative cover

Three（M8）gasket
Three (M8 dansuke)


